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If 1 +sin?2 0= 4 - cosec?20 then find the

e
(sinﬁ 0 + cos ec’ 9)

value of .
(sin 6 +cosech)

(a) 2 (b) 4

(c) 6 S Nong




If Gec® 0 —(o%0 = 5 then find the value of
cos®0 + sec®f=?

(a) 25128 ) 26429
(c) 32435 (d) 25

o %'L""::(f& Sy = 129
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If (tan9+cot9)(tan29+cot29—-1)=0

then find the] value of tany 0+ tagfAsS50 +
tani®g=?

(a) O (b) 1
Pil . g'\); (ath) (o:':g o)
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If 1+ tan0+ cotO= 3tanb cotb then find

r_—mue of tanll 0+ cot?30+ tan0+ cot
J 0 \ 4 \+1+ ]
'/HT4 (b) S




If 1.4 tan6= 5.0 sinO then find the
value of cosecO + cotf=?

1133 (b) 2.30

@ (c) 2.33 (d) 4.21




I‘ 4sinx cosx + 2 sinx + 2 cosx + IZ= 0)
then what will be the value of x ="

(a) 45° (b) 30°




sin? 39° + cam’ 51° l
( SAA )=£and k = 3
c0s 36.5°. secx°® kry

then find the value of x°=?

If

() 3\3.9° (b) 3335 @
e s® (d) None. o

365




If 6cotO= \/ﬁ cos then find the value
of tan? O + sec?20-sin20 =?

(@) 6.15 _JH6.25
(c) 5.25 (d) 5.20




If sin0+ cos0= 3 then find the value of
tan0 + cotb =?
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The exry

ssion

1+cCosHO

cos0 + sinf) cotH
where 0°< O

(a) -sin20

% C (c)-cos?0

s
C @@

cos eg”™— cot 0
( ;-9/

<90° is equal to

1+ tan6)cosech

\.(fl!‘ﬂzt::s2 0

(d) sin26
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R
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(sec-tanb) 1

cosf=—, Olies in 1st
(1+sin6)

quadrant, then the value of

cosech+cot’., Y 4+F
is
cosech—cot’d _8 9

Y- 37 9 \
9(b) 12 =
?

) 22




e
: — Si 1
a@) =S The value of (0000 -~ sl 9.+ )is

(cos0 -1+ sinb)

1+sin6 1+ cotb

(b)

cos 0 cos 0

1+tan9 sm ) 1+cosB
cot 9
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(sinf+1-cos0)

The value of is

y (sin6 -1+ cos6)

0

stél,_)@“ 1+ XG (b) 1+ coth
éW/H‘S(L cos 0

1+tan9 q 1+ cos6
cotO sin 0

§Q° QU HHED- |

ﬁ@c ) U= -Gos
C

&m—-suﬂ




If (tanB+ cotO) cos20-1 = 14 cos60°
then find the value of cosecO =?

Af) /65 (b) 62
(c) V63 (d) 60

@ (5 c”\-—um.
A @




p \/sec2 0 + cos ec’0 = 4 then find the
value of

tan 0 + cot” 9 (Zc ec 9;«!“9—4).




The )u.l.us of the expression
sm4 0-cos” 0+ 1)

(s ()‘l' WCL 1 sm 9)sec 0 N—.

\—”

.w’z (b) 1

(c) O (d) -1
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Solve

sin’ 39"" + sin’ 51° sm(90 - cos(90 - 0)cos 0
cos’ 33” +cos”’ 57 o an@ cot0
(a) 3 -3

Vel




The value of
-

/—: cosO(l+sin6) (tan 6 + cot )
(1+sinf-cos”0) (cosech-sinf)(sech- coso)
CCl;l() $cm/cc.te (b) sin20

—_%' \(wiecz 0 (d) tan 6

%1‘?




Evaluate

cos 105° + cos 15°
-? waf{ sin 36° cos 9° + cos 36° sin 9°
| 1\ M
1
ol d) V2
/{ @(c) = (d) V2
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cos(A - B) - cos(A + B)

The value of ;
sin(A + B) + sin(A - B)

(a) sinA (b) cotB

Jc‘) ton® (d) secA
F4SAISER) _




The value of co0s20° cosl5° cos4__9°

S,

cos45° cos80° is

A
P ™
V3 (T3

32

had
16
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(c)




The value of the expression

(1 -jga/cosecA) sec? A.cogec”A is

-{1/—(;3&1': +cot A)}(tan A + cot A)* cos ge=A”

(a) cos?A (b) cosec?A




Simplify:
sinl7% + sin(180° + 5x) + 2cos11x
2(cos 3x + sin 3x)°

‘JA]/cos 11x (b) sinSx

(c) sinl7x (d) cos13x
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If 3cos’0+4(sin0-1)=0then find the

value of (sec” 0+ tan” §) =? 9#: 90
3
A OB

9 , | Q.Fz_.s
sts =S
3 o

3:»(3—1)-l(&n= o



he value of o b is
(1+ cos x + cos 2x)
(a) sinx %

(c) cotx (d) secx
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If tan69°+ tan66° - tan66° tan69° = 2k

the find the value ot k =:




